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of Administrative Officer

Question paper & answer key are uploaded on Wool Board’s website.
Candidates who are not satisfied with answer key & want to raise objection for
question, will be allowed to raise objection through e-email on wool board’s
id- woolboard-textiles(@gov.in within seven days l.e. date 04.06.2025 up to
5.00 PM.

Objection can be raised only against question & their respective alternatives.
Before raising objection, check the question and answer carefully.

Ambiguous objections may not be considered for evaluation.

1t is mandatory for candidate to upload supporting documents in the PDF for

objection, without supporting documents objection will not be acceptable.

or reference will not be taken into account and will be discarded.
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Juestion Paper
Section-01: English

Choose the option which replaces the underiined phrases (from Question 01 to 04):

Q.-01: The girl which arrived late is my friend

whom arrived late

. arrive late

who arrived late

. No improvement required

o N Tow

Q.-02: Another change that | notice in Neha is that she svoid to speaking to me.

Avoids to speak
Avoids speaking with
Avoided speaking to
No improvement

o0 T

(Q.-03: | cannot be able to see the teacher well from my seat yesterday.

a. Was not able
b. Am not able

c. Cannot be able
d. Noimprovement
Q.

-~04: In enough time the locusts came down and started eating everything

a. Insmalltime

b. Innotime

¢. Around no time
d. Noimprovement

Filf in the blanks with the correct form of the verbs given in brockets {from Question 05 to
06)

Q.-05: The police (beat) the thief if they see him.

a. will beat

b. beat

c. would beat
d. are beating

Q.-06: The teachers (discuss) the problem since lunch.

a. discussed

b. have discussed

¢. had discussed

d. have been discussing




Look at the following sentences given in a disorderly form. Regrrange them to form
meaningful sentences (from Question 07 to 08].

0.-07: Theatre/he/the/goes/seldom/to.

a) He seldom goes to the theatre.
b) He goes seldom to theatre the.
c) Seldom he goes to the theatre.
d) The theatre he goes seldom to.

Q.-08: The Ganges/going on/1 thought/a boat trip/of/down.

a) | thought of going on a boat trip down the Ganges.
b} 1 thought going on of a boat trip down the Ganges.
¢) Going on a boat trip | thought of down the Ganges.
d) A boat trip down the Ganges | thought of going on.

Fill in the blanks with appropriate modals: (Moy, must, can, could, should, would, ought,
need} (from Question 09 to 10}

Q.-09: My laptop " be old, but it still works well.

a) may
b} must
¢) ought
d) should

Q.-10: He have helped us if he'd really wanted to.

a) must

b} would
c) ought
d) can

Change the following into indirect speech {from Question 11 to 12}.
Q.-11: They said, "Wow! What a pleasant day it is!"

a) They said that it was a very pleasant day.

b) They said what a pleasant day it was.

¢) They exclaimed with joy that it was a very pleasant day.
d) They told that it is a pleasant day.

Q.-12: "Did you leave your keys in the car”? Geeta asked.

a) Geeta asked did | leave my keys in the car.
b) Geeta asked if 1 had left my keys in the car.
¢) Geeta said that | left my keys in the car.

d) Geeta asked that had [ left the keys.




Rewrite the following sentences in Pussive voice (from Question 13 to 14).
Q.-13: Please close the door, {request)

a) The door please be closed.

b) Let the door be closed please.
¢)

d}

You are requested to close the door.
Please the door should be closed.

Q.-14: Switch off the fan. (command)

a) Let the fan be switched off.

b) The fan should switch off.

¢) You are commanded to switch off the fan.
d) Please be switching off the fan.

Transform the following sentences as directed using suitable form of words: {fram
Question 15 to 16).

Q.-15: Navin left no plan untried. {into affirmative)

a) Navin tried every possible plan.
b) Navin did not try any plan.

¢} Navin left every plan.

d) Navin avoided ali plans.

Q.-16: As soon as we had left home it began to rain. (Use No sooner..... Than)

a) No sooner had we left home than it began to rain.
b) No sconer we left home when it began to rain.

) No sooner we had left home than it rained.

)

No sconer had we left home when it began raining.

c
d

Detect the errors and rewrite the sentence: {from Question 17 io 18}.
Q.-17: 1 have been in the United States since a year.

a) [ have been in the United States from a year.
b) I am in the United States since a year.

c} ! have been in the United States for a year.
d) | have been to the United States for a year.

Q.-18: 1 have little water left. There's enough fo share.

a) I have a little water left. There's enough to share.
b) | have little water left. There’s none to share.

¢) 1 have much water left. It’s not enough to share.
d} I have the little water. There's no sharing.




Choose the word that best completes each sentence: (from Guestion 19 to 22].

Q.-19: We have imported ' Videos than last year. (fewer/less).

Q.-20: 1 enjoyed reading the story. It was rather sad, (also/but/so/though).

Q.-21: they had been in line all night, | was sure they'd get tickets. (As
though/Because of Since/Until)

a) As though
b) Because of
c) Since

d) Until

Q.-22:1am a swimmer as my sister. (better/good as/ not as good as/so

good)

a) hetter

b) good as

¢) not as good as
d) so good

Change the word(s) in parenthesis into a one-word equivalent (from Question 23 to 24).

Q.-23: | am getting (accustomed) to coming here all by myself

a) hahitual
b) used

c) trained
d} familiar

Q.-24: My uncle makes (very tasty) homemade chocolates.
a) delicious

b) flavorful
c) savory

d) spicy




Complete the second sentence so that it hos the similor meaning o the first, Use the word
in brackets: (from Question 25 to 26)..

Q.-25: You are too young to stop working (give)

a)

b) You are too young giving up working.

c) You give up working because you are too young.
d) You are too young to give up working.

You are not old enough fo give up working.

Q.-26: [ haven't got any money left. {run)

a) | have run out of money.

b} I run out of money.

c) | have run intc money.

d} | am running out of money.

- Comprehension

Harry Potter was the last great pre-internet phenomenon: {Recd the texi and answer the
guestions)} {from Question 27 to 30).

It was just a book back then. There were no queues. No grown adufts in costumes, waving
wands. No blockbuster movies, no video games. All those years ago, the first Harry Potter book
was published, having previously been rejected by 12 publishers. The legend goes that
Bloomsbury chief executive Nigel Newton published Harry Potter and the Philosopher's Stone
because his doughter had enjoyed reading the manuscript. 500 million copies later, and o lot
of people are rich. No one can predict what our next big cultural phenomenon will be. What
we do know, is thot it wen't ever be like that again. Harry Potter was the last great collective
obsession of the analogue age. It came from a time before binge-watching, before memes,
before Amazon Prime. We used to do this thing called "waiting”. Our online, on-demand
culture has changed habits so fundamentally that it's remarkable to think that a significant
number of those 500 million readers went to o bookshop to get their copies. In fact, those trips
to the bookshop are really the things | remember. The shops opened at midnight so the reading
could start within seconds. No book has come close to that level of anticipation. But now you
don't hove to go anywhere to get things fast, you can just order them online.

When | think about 11-year-old me, sitting in my bedroom, getting excited by it oll, that
excitement is what | think about the most. | don't really remember the Horry Potter stories.
How did they end? | have no memory. | mostly remember the things thaot happened around
them. The early books came out when | was at prime Harry Potter readership age. And, like
millions of my generation, the books became an unexpected friend throughout my teenage
vears. When the final book was released, | was 16. The doy before it was released, my first
ever boyfriend broke up with me. | was so sad ond couldn't eat or sleep. At midnight, my dad
took me to the shop to wait in line for the final Harry Potter book. It was the only thing that
cheered me up. | woke up the next day reading until my eyes were sore.




Q.-27: According to the text, why did Nigei Newton publish Harry Potter and the
Philosopher's Sione?

Because his daughter wrote it.

. Because 12 gother publishers wanted it
Because his daughter read it and liked it
. To make him rich

o0 T oW

Q.-28: In the second paragraph, the word broke up is closest in meaning to:

Destroyed

. Got together
Mended |

. Separated

o o

o o

Q.-29: Which of the sentences below best expresses the essential information in the
following sentence? "The early books came out when { was at prime Harry Potter
readership age."

a. The author was at the perfect reading age when the first Harry Potier books were
released

b. The author was at the perfect reading age when the final Harry Potter came out

¢. The author was Harry Potter's number one fan

d. The author was not at the prime readership age when Harry Potter was released

Q.-30: What does the author mean when she refers to the "analogue age"?

a. The analogue age refers to a time after the digital age {pen and paper, record players,
polaroid cameras)

b. The analogue age refers to a time before the digital age (pen and paper, record players.

polaroid cameras)
¢. The analogue age is something that will happen in the future
d. The analogue age means binge-watching and memes
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Section-02: Reasoning

TH.31: I ohe T T B o) Wied B vy Rig @)yl s Sehie:
15Qﬁf‘i@j’ﬁ:: ﬂa

vy

a. pcdld
b. I

c. Tl
d. Teiel

Q.-31: Select the alternative that will replace the question mark in the analogy Badminton:
Shuttlecock:: : Ball

a. Football
b. Bat

¢. Bullet
d. Catapuit

TY-32: A1 G ¥ 2 g go1 g1 afe 10 I8 Ugd IS &1 3 13 99 off, O 4T &) adam
3 o1 82

a. 25 a4
b. 23 TY
C. 273@
d. 29 g%

(Q.-32: Mouni is 2 years eider than Sanjay. If the age of Sanjay 10 years ago was 13 years,
then Mouni's present age is?

a. 25 years
b. 23 years
c. 27 years
d. 29 years

T%-33; SR 6, 14,30, 126,254 AW UE &

a. 33
b. 46
€. 55
d. 62

Q.-33: The missing term in the series 6, 14, 30, , 126, 254 is

33
46
55
62

a0 T ow
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UY-34: T R B T, oUNC B pwaG B T4 H FITST 501 77 81 FAST IS8 BT B1S
T ET?

a. GCVX
b. GVXC
c. GBUW
d. GCUW

(Q1-34: In a certain code, QUNC is coded as PWQG. What will be the code of the word FAST?

2) GCVX
b) GVXC
¢} GBUW
d) GCUwW

TY-35: Tp popex &7 10 Ul § SiNd THIR 36 1| 30T 11d] URI 8 3= $& T oY
g SR IUSHT AT 40 31 T 18] IR T STH1 TR [ YT?

a. 50
b. 60
c. 70
d. 80

(.-35: A cricketer's average score in 10 innings was 36. In his 11th innings, he scored some
runs because of which his average increased to 40. What was his score in 11th
innings?

5C
60
70
30

20 oo

Tsi-36: R &1 T e & far & godidl act g1 8RR $1 e ¥ s gy 87

a. g5
b. 1l

c. &l
d. Harel!

Q.-36: Harini's mother is Jeevan's father's only daughter. How is Harini related to Jeevan?

a. Sister
b. Mother
c. Daughter
d. Niece




TY-37: AH 1 SR TR T4 5T I9 (TG U YT 2) - gl "9g GY a9 & (U &t
Tl @1 Sl 3 1 B e &) val 9 {58 v 989 g

a. slgd

b.

c. 921

d.9g

Q.-37: Pointing to lady, Raju {Raju is a male) said, "She is the daughter of the wife of my
son's father.” How is the lady related 1o Raju's wife?

a. Sister

b. Mother

c. Daughter

d. Daughter-in-faw

TY-38: fawe ol |
a. PIR: die-d
b.?ﬁﬁ'l: Yig

c. Pl BHR
d.m:@?ﬁﬁ

Q.-38: Find the odd one out.

a. Car: Vehicle
b. iron: Metal
¢. Chair: Furniture
d. Door: Window

0%-39: p, QBT UE T, Q, RHT HIE §, 3R s, p T AT g1 3 Tehl & snur R, Raffad
8 @ gr ey FT o8 Taa gr

a. Q, Pﬁlﬂg%

b.Q,SHIICT S

c. P, RIINCTE

d.RPHIUS TS

Q.-39: Pisthe brother of Q, Qs the brother of R, and S is the father of P. On the basis of
these relations, which one of the following statements is definitely wrong?

a. Qis the brother of P
b. Qistheson of$
¢. PisthesonofR
d. Ris the brother of P




UH-40: TR BET A, B, CAR D F B HY AT AT s T B A A E, 85 3 ¢ F 3]
®1 U faerd & Wal® ¢ siF pF AT T s AT 1 TT A, B, ¢ AR b F 3w 3IF
24758, O Sy e w1 E?

a. 9

b. 25

c. 30

d. 45

Q.-40: Out of the scores of four students A, B, C and D, the score of A s twice of that of B,
the score of B is one-third of that of C while the score of Cis 5 times of that of D. if
the average score of A, B, C and D is 24.75, then what is the highest score?

9

25

30

45

o n T oo

uy-41: FafiRea 4 9 5 Ree & 2y 7o 9ge & 9« & wo@ qu el 82 (3, 81, 243,

729,2187)

a.9

b. 27

c. 15309
d. 6561

Q.-41: Which of the following options does NOT have the same property as the elements of
the given set? (3, 81, 243, 729,2187}

a. 9
h. 27
c. 15309
d. 6561

geeT-42: IfE AIR T GREEN, GREEN &7 BLUE, BLUE &5 SKY, SKY T YELLOW 3T

YELLOW T WATER foI@T ST &, @l ‘color of clear sky' &1 IS 4T &9

a. BLUE

b. WATER
c. YELLOW
d. SKY

Q.-42: If AR is coded as GREEN, GREEN is coded as BLUE, BLUE is coded as SKY, SKY is coded
as YELLOW and YELLOW is coded as WATER, then what would be the code for 'colour
of clear sky'?

a. BLUE

b. WATER

c. YELLOW

d. SKY
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G9-43; FTU S UF Hiad o, GUed $ v B O TRt WE Y Bl g9l 39

T T % W TUENT YT e E O 8% BT u O giud et 97 Bl
Frar B ofed & Bas g=d 87

a. 24

b. 25

c. 26

d. 23

0.-43: in a row of children, G is sixteenth from the left end of the row. I she is shifted
towards the right by four places, then she becomes fifth from the right end. How
many children are there in the row? |

a. 24

b. 25

c. 26

d. 23

£ - o

ge-44: R weansl & vR Sig G aw §1 e il A gl dear sur aifees
Wk O ugelr gEaT o Teted §1 sl o Bsw §7

a. 123-6

b.257-14

¢, 235-10

d. 712-8

Q.-44: Given below are four pairs of numbers. In three of the pairs, the 2nd number is
related to the first number in the same logical way. Which is the odd one out?

a. 123-6

b. 257-14

c. 235-10

d. 712-8

Tee-45: FEAT F NG RIaT F a9 §1 3 a9 ggel, FiAT @ A e & &= a1 9
HIAT &7 TR ST & 872

a 12 ag

b.8 T%

c.6 gy

d.4 g%

Q.-45: Meena is twice as old as Shina. 3 years ago, Meena was thrice as old as Shina. What
is the present age of Meena?

a. 12 years
b. 8 years
C. byears
d. 4 years




GR-46; 4 T Y T @ e £ 5 = 3§ odr A
GET W X2 YH w9 F cuwg Bur sEr B Y5 24 N FHR N2 L e
I w W FUT BT AT §9Y & ¥ W 8

a. L Y& 9T 8

b N, X 9ET &

N, X% &5 ¥

d.Y L& #AT 8§

Q.-46: 4 means 'is the sister of, 5 means 'is the mother of and 2 means 'is the brother of.
The relation is expressed as X2 Y. Y5 Z, Z4 N, and N 2 L, Which of the following statements
is valid for the given relation?

. ListhesonofY

. Nis the daughter of X
N is the brother of X

. Y is the mother of L

o0 T

TYy-47: Fufifea ¥4 & 1 e U T8 T9g & qwl & T0r 01 9ie 981 B
ADG, CFl, BEH, DGJ

a. MPS
b. NQT
c. LNQ
d. RUX

Q.-47: Which of the following options will NOT share the same property as the elements of
the given set?

ADG, CFl, BEH, DGI
a. MPS

bh. NQT
c. LNQ
d. RUX

US43 TT6#8=103R5412=13, A9 #40=?

a. 47
h.63
c. 41
d. 53

Q-48:f6#8=10and 5#12=13,then9#40="7

a. 47
b. 63
c. 41
d. 53




Ge-49; FEATHE We H, 95 e g O B A geg & 3w & 39T
FIF SR AT ST WEAT 51 ENCOURAGING

a. GRAIN

b, RAGING

c. GAUGE

d. ENCOURAGE

Q.-49: In the following question, select the word which cannot be formed using the letters
of the given word. ENCOURAGING

a. GRAIN

b. RAGING

c¢. GAUGE

d. ENCOURAGE

YeA-50: SHell i U Giad #, QY Tge 12 #r 81 PR QF 9w 4 &er &1 ¢
IR S& g 15 @wr §1 I SR REF &g 8 @91 § @) ofew F Foaae Reaa
ICIY

a. 29

b. 32

c. 36

d. 37

Q.-50: In a row of people, there are 12 people before Q. There are 4 people between P and
Q. There are 15 people between Q and S. if there are 8 people between S and R. then
how many minimum people are there in the row?

29
32
36
37

o0 T W

-5 et ueer &, fowredl # & fawe Gear-ged &1 99a o
a. &-72
b.5-42
c. 12-156
d 4-12

Q.-51: In the following question, select the odd number-pair from the alternatives:

a. &72
b. 6-42
c. 12-156
d. 4-12




e ET

U3T-52 BYWE TTEUT T SieT
a. BO¥F
b. EJR
c. CF1
d. ABC

(.-52: Find the odd one out.

a. BDF
b. EJR
c. CH
d. ABC

weeT-53: Afg well Heash & wgdl IR gl 37w @ 3wy A seel o one e
¥ g TeatET F 3 el g avw g9 gl

a. 374

b. 247

c. 347

d. 583

Q.-53: If first & second digits of all the numbers are interchanged, which of the following
number will be highest after the rearrangement?

a. 374

b, 247

c. 847

d. 583

yeet-54: 3MST FAR &1 132 BT & e, 95 g9
a. TITAR
b. Iaar
C.W
d. I

Q.-54: Today it is Thursday. After 132 days, it will be

a. Monday

b. Sunday

¢. Wednesday
d. Thursday

ueH-55: H@aAT @l 9U B 1,6,13,2233,
a.46
b. 48
c.49
d.51




055 Complete the series 1,6,13,22,33,

46
48
49
.51

o0 oW

UY-56: Sel; Y - SR ?

a. oY

b, 3fef
AdE]

c. HIE

d. SMAR Aifd

Q.-56: Water: Dam :: Trade: 7

a. Commerce
b. Economy

c. Goods

d. Trade Policy

UeA-57: 1,9,25,49,7, 121, UzTaras e & TR 9y 97 H0an
a. 100

b. 81

c. 64

d. 81

Q.-57:1,9, 25, 49, ?, 121. What will come at the place of question mark?

100
91
64
81

o 0 oo

geeT-58; M, N ¥ 318 offend P &l & delich ¢! Q NF 3% &g M T &7

o ST B WY HH THRA Hid 57

a M
b. N
c. P

d. ¥R

Q.-58: M scores more run than N but less than P. Q scores more than N but less than M,
Who is the lowest scorer?

o0 T
ow=zz
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TeE-59; 3TF YN 59 UF sl §) U o Ul i & T Feeaw fEae

TEGT T gel & SyTERTEl ¢ oEs =g o gy 7 9
a. 22
h. 32
c. 21
d.45

0Q.-59: You have 59 cubic blocks. What is the minimum number that needs to be taken away
in order to construct a solid cube with none left over?

22
32
21
45

9-60: TUETAT F¥e’ 31 ke Jaifdra § o el frgd wiafer o-
a.ﬁeﬁi?

b, TR

c. SR

d. 4r&H

Q.-60: Museum is related to Curator in the same way as Prison is related to-

o0 T W

a. Manager
b. Monitor
c. lailor

d. Warden




HIET-03 H1EEE AT
Section-03: General Knowledge

TeA-61; HETeed Hied Juasiy AFT 9 HEl 27

a) 9Eel GIasiy WS
b) EEI THENiT AT
¢) A TUaET IEAT
d) @ goasi IS

0.-61: Mahalanohis model has been associated with five year plan?

15t Five Year Plan
2" Five Year Plan
3" Five Year Plan
4™ Five Year Plan

o0 oo

U9A-62: o ROy NYcHITY Y ICUES STAAT IIiea WEdl H dAeiar Ser e
& fow 3oareg gidt B & 30 w97 Fa S &7
2. HEAT SIS

b, Hiellcaes sdiaen<l

S ~
C. HetSoel a@d{loidlidl

d. TET SIS

Q.-62: When the productive capacity of an economy is inadequate to create sufficient
number of jobs is called?

a. Seasonal Unemployment
b. Structural Unemployment
¢. Disguised Unemployment
d. Cyclical Unemployment

eT-63: THIRENT #iae ey dsfa @
a) Har

b) BIGRT

) mﬁT

GG

Q.-63: MRTP Actis related to.

a. Service
b. Shopping
¢. Industry
d. Boat




o
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usA-64: TeaTataT # ¥ w9 W ugiey ug

a FEE- Al W

b SSEIHE- AeUdedm ol
C IR - aretios T

[ e

d FTHE- &Y 199

L

Q.-64: Which of the following combinations is correct?

a. NABARD- industrial Loan
b. IDBI- Short term Loans
¢. RBI- Long term Loans
d. RRB- Agricultural Finance

YesT-65: T Tl & OIS [FEs garl 3uan ag 41
a. SIITETeNE #g

b. AN SHE

c. Tatra e

d. TER ToalslaTs gcd

Q.-65: The strategy of rolling plan was adopted hy?

a. Jawaharlal Nehru

b. Morarii Desai

c. Rajeev Gandhi

d. Sardar Vallabhbhai Patel

HeeT-66: BI BT A RS WER & 9 sy & v e e 389" (ODOP) ater

Tgel S 3gHics far?

a. HFEH], &9

b.7% fewel, aTRe

c. e, w31 3R

d. gEg, T 3 2R

Q.-66: Recently, the government of India inaugurated the "One District One Product”
{ODOP) Wall initiative in which city?

. Moscow, Russia
. New Delhi, India
Riyadh, Saudi Arabia
. Dubai, United Arab Emirates

o0 oo
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Yeel-67. Tohd 58 H4ET & @a%s@ﬁ%eﬂﬁ"ﬁ FEEET & ol g@TEIT YRR

Bl
2
o
i

T 3TeuT TREE gy B
a. JEH

b. TS

c. STTHE

d. FEOHTE TS

Q.-67: Which state government launched the 'Mission Arun Himveer' to enhance market
access for agri-horti 13 producers?

a. Assam

b. Mizoram

c. Nagaland

d. Arunachal Pradesh

eA-68: 3elodT U8, S TAMNR & @ =T o, e g o &= &
a. Ty

b. geTEe

c. &

d. Fad

Q.-68: Aleppo city, which was seen in the news, is located in which country?

a. Syria
b. Israel
C. iran
d. Kuwait

£

U2A-69: [hT THeToe o TAELT WAl & T 89 Slade Je U6 Ha7 TN
TETUF dled T 87

a‘m

b. 2[eTel

C. m”sﬁ%\'tjﬁrc’”

d. J¥er

0.-69: Which organization has launched a new Al assistant called Bragon Copilot for
healthcare?

a. Amazon
b. Google
c. Microsoft
d. Meta




- c . b " RPN ior. YL AR .. W
o2-70; et HinT o G draen Ty weunl BE S A s |y

- i
i

a. W anoeas de, emar, w3 dw R weedr winfer
b. 7 wrery 3t s wae

c. 7T AT 3 s R dF

d. HgeT Wl 9%

Q.-70: Kisan Credit Card (KCC) Scheme was implemented by which institutions?

a. Scheduled Commercial Banks, RRBs, Small Finance Banks, and Cooperatives
b. Ministry of Finance and Ministry of Agriculture

¢. NIT! Aayog and Reserve Bank of India

d. Only Cooperative Banks

Ty-71- Ea gl B, oo Yus &) wardei=e i Ie o &1 9a g9 & o
yfaffa RraRoRnT 9@ BRA (GwF) Add IREHR Y THT-d a1 717 82

a. BHEL
b. IN-SPACE
c. BARC
d. DRDO

Q.-71: Recently, which organization has been honoured with the prestigious Geospatial
World Forum (GWF) Leadership Award for "Public Policy: Enabling Industry
Development"?

BHEL
IN-SPACE
BARC
DRDO

o N oo

UY.72: Tlqdred &rd & e Fafeiea & 4 59 83 &) idd &1 SRl &gl SId] dT?

a. P - TeTas] ST
b. PO - HIAR] SeT
c. PO - GRYR ST
d. BIR] - TTiGTaR] Sl

Q.-72: Which of the following areas were called as the rice bowl during the Satavahanas
period?

Krishna - Godavari Delta
Krishna - Kaveri Delta
Krishna - Periyar Delta
Kaveri - Godavari Delta

o0 oW




GY-73: THRITIGT T o5 Ta-R-oI=Re & IReER &SI YOmel & 312

a. IS garat
b. TS BT
c.’f’ﬁéw
d. a8 Ru=

(1-73: Who among the following Governors- General introduced the Dual System of
Government?

a. Lord Wellesley
b. Lord Canning
¢. Lord Clive

d. Lord Rippon

uy-74: FrafaRaa gensil &1 et o9 91 &7
. fod® oI gia =a anT

i1, BTHFTCTIRE ge]
1. TRTAT et T YR S

1 8T T D18 D1 YN BReb g1 F g DiS:

a1, 10, 11
b I, 1, |
c. I, 1, 1
d. I, 1,

Q-74: What is the correct sequence of the following events?
I. Tilak's Home Rule League

li. Kamagatamaru Incident

lil. Mahatma Gandhi's arrival in India

Select the correct answer using the codes given below Codes:

a. I, 1, Al
b. 1M
e LN
d. 1,

uy-75: Fufafea § 9 o sl siffea YRa &1 ygar TaaR-oRd 57

a. faforgm dfew
b. A R
c.?ﬁ%ﬁi@ll
d. A1 BT




Q.-75: Who of the following is the first governor-general of British Occupied India?

a. William Bentinck
b. Warren Hastings
c. Lerd Minto
d. Lord Canning

ge-76; TRISH & GUH Yoy feAtaf@d A & Brg av wer e an
2. 1219 &.
b. 1300 .
c. 1191 2.
d. 1291 &,

Q.-76: The First Battle of Tarain was fought in which of the following years?

1219 CE
1300 CE
1191 CE
1291 CE

a0 T w

we-77. TEaaf@a F @ w9 @ 78 $F Raem F Few ey ¥ e
&7

a. Jar

b. TFTT

c. AT T

d. T

Q.-77: Which among the following rivers rises from the Milam Glacier in Kumaon Himalaya?

a. Sharda
b. Ramganga
¢. Gori Ganga
d. Yamuna

Ter-78: efafaa & § By TSy F TEd §37 daviar HTiad 879 87
a, OTaHE SaTel |

b. Felcw

c. 3TY weTT

d. 397 9aer

Q.-78: Which of the following states has the largest salinity affected area?

a. West Bengal

b. Karnataka

c. Andhra Pradesh
d. Uttar Pradesh




wee-79: TEaroel U & sy FE U¥ SERION UET g e s HY By

AT H ST ST 572
a. 3FS FIET

b. fEedr |re

¢, GieT ST

d. 8T o

Q.-79: The Maharana Pratap Sagar reservoir on the river Beas in Himachal Pradesh is also
known as?

a. Ukai Dam
b. Tehri Dam
c. Pong Dam
d. Dhargi Dam

We-80: I HiT SEAYF S GUFT FOUN 1 FRG FH F ShaAr sar 87
a. HAEAT
b. e
¢. TgTeTar

d. 9eFAT

Q.-80: By what name is the combined water stream of Ganga and Brahmaputra known?

a. Meghna
b. Jamuna
c. Tsangpo
d. Padma

uea-81: eATaif@a Uodl @ 8N & g ¢ & I B & e HH S
AR STAEYT 7

a. 3TY G5

b. TTTeT

c. dHEATg

d. T

Q.-81: Arrange the following state as per the descending order of their share in India's
coastline?

a. Andhra Pordesh
b. Gujarat

c. Tamil Nadu

d. Kerala




Teer-82: THEEr & diel S ST & e O IUSEy Bl AT U @ SeareiEd

T BEE wg H ST AT 87
a. §1ey Hol

b. EIBATEHITUE ST

c. SRIZRT e

d. g{wmdﬁﬁ%w Rore

Q.-82: In soil, water that is readily available to plant roots is known as which of the
following?

a. Bound water

h. Hygroscopic water
c. Capillary water

d. Gravitational water

uy-83: YR la sk TRl Hofalad & Bigs 94 & gReEH 92
a. SO

b. TAR[E I Sa-
A KINCIERFENE]]
d. A3 (et

Q.-83: The famous poet Amir Khusrau was contemporary of all except following?

a. tutmish

b. Ghiyasuddin Balban
c. Jalaluddin Khilji

d. Alauddin Khilji

ve-84; PrARfET # O ol O U5y 9RT & I197 & U9 §37 3c9I5H 87
a. fEer

b. BHATHIE

c. FET HIY

d. gsrEreT

Q.-84: Which of the following states is the largest producer of lead in India?

a. Odisha

b. Chattisgarh

c. Madhya Pradesh
d. Rajasthan




o

yeA-85; eTaiEa F 9 Sl W v USenas oo & U uidl & vy #
TENAr 3 T ATE6E §7

a. F@ ¥F G F G UsAl A gsny wsar §

b. 51T WE USE AT H S 9T Fol Al W FH F FA G GOAT T A §
. AT T8 FH T &H O Uodl & TaT 9T FHEAT BT

d. ofE =7 TR o1 ¥EE USAl § U Ueelia® & T H Feadl 9eF B

Q.-85: Which of the following is the criterion for a political party to be recognized as-a
national party?

When it contests elections in all the States of the country

‘When it secures at least five per cent of the total votes cast in a national election
if it captures power at least in three States

if it is recognized as a political party in four or more States

ge-86 gar yfRFgr wr frar sfEes Fetfa & a3 e av &
s feaa fear oar o

a. 1996

b. 1997

c. 1898

d. 1999

o0 T o

Q.-86: The PESA Act or the Exiension Act was enacted in which of the following vears?

1996
1957
1998
1999

weA-87: feraleila & & Sie W 36Tese Feal g fon wiid, U, wee, fo9, S=a
T & YR W s Jeig Hal g 9y

a.w 21

b. 3eTede 25

c,ﬂ?j’@?{ 15

d. Frgeae 30

o0 T o

Q.-87: Which among the following Article states that there should be no discrimination on
grounds of caste, religion, race, sex, place of birth?

a. Article 21
b. Article 25
¢. Article 15
d. Article 30




o -

o5 -88: SR g Ofer $ el O o weieg dOey § geiig B
a. g 101
boem 111
c. urT 121
d. & 131

Q.-88: Which section of the Bhartiya Nyaya Samhita deals with organized crime?

a. Section 101
b. Section 111
c. Section 121
d. Section 131

Te-89: WIT & TRUM & 3e[Ted 21 # @i wr Ageas] mee HER dag @2
a. Tl HT AT
b. 9T T TFATA T TR |
¢ 9T 3 aTieuTEg O Todwar @ WOEE
d. SiaeT T TaaEar & HEER

Q.-89: Which important human right is protected in Article 21 of the Constitution of India?

Right to Equality

Right to Freedom of Religion

Right to Freedom of Speech and Expression
Right to life and liberty

o 0 oo

U3-00; TR & HAeHHURT TaW HT HI5 a8 8l
a. R & AT AT

b. 359 SR & FEY =TT
c. T aTed
d. 3ursgatd

Q.-90: There is no provision in the Constitution for the impeachment of the.

a. Chief lustice of India
b. Chief Justice of a High Court
c. GQovernor

d. Vice President




YRT-04: TIEY fo=ia Fm
Section-04: General Financial Rules

e1.01: I GIE 1 T 1 & R Wren & SRR wiig o aR A T

a, GeM
b. CPP
c. 3-3fFg
d. W

(1-91: What is the name of the portal through which Government procurement have been
made mandatory?

a. GeM

b. CPP

¢. e-Office
d. SPARROW

¥esT-92: GFR2017 &7 &l o7 599 GeM & #mrevd ¥ ¥ ©lE & ¥y
FoTaT 87

a. [ 148

b. leigH 154

c. TR 155

d. Py 172

Q.-92: Which Rule of GFR 2017 mandates Government procurements through GeM?

a. Rule 149
b. Rule 154
¢. Rule 155
d. Rule 172

999-93; GFR2017 & &0 998 & ggd T i & Tov a3 sl s

HFTH &7
a. =oe 149
b. oo 154
c. I 155
d. T 172

Q.-93: Committee is required to be constituted for local purchase under which Rule of GFR
20177

a. Rule 149
b. Rule 154
c. Rule 155
d. Rule 172




WeT-94: 37 Sl WOTen & e § -
a. IeRaienT ST |

b. o= ST

c. & a) AT b)

4.7 o FE

Q.-94: Two Bid system comprises -

a. Technical Bid
b. Financial Bid
c. Both a) and k)
d. Neither

Te-95: PFMS &7 o §9 § -
a. Ha=oes & gyays worel
b. TSRS G0 vEUT wia
c. 5 TdT ysys guTelr

d. arEEte =T gaus vomelr

Q.-95: Full form of PEMS is -

a. Public Fund Management System

k. Public Financial Management Source

¢. Private Financial Management System
d. Public Financial Management System

TUY-96: AT Ed] Hiedl BT Ioe B & (o0 Sl a o Fid @ ard &f g dd
_ a o yiasda foear < gsar g

a.l

b.3
c.3
d.4

Q.-96: The maximum period for which a bidder can be debarred from bidding for violating
code of integrity is years.

o0 T o
BowW W e

%
1




UY-97. ©hY STECH RIMY ST SIe)] Bl WU o Jed & __ FUY & Uy 75
YR IS0 & HYR W & & 9ha 6|
2. 5,000/~ |

b. 15,000/-
c. 10,000/-

d. DIs Tol

Q.-97: Scrap items can be sold to local scrap dealers on a summary guotation basis up to an
amount of Rs. of the value of scrap.

a. 5,000/-
b. 15,000/-
c. 10,000/-
d. Neither

UH-98: GeM OEM THIITAR B! STHIT ad § i ....% G e B @) Hld A8l
Gl g

a. 200
b. 300
c. 400
d. 500

Q.-98: GeM does not allow to set OEM turnover over estimated cost by.....%

a. 200
b. 300
c. 400
d. 500

T%.99; ETSITY &1 ol =0 1 82

a.éﬁq@rmﬁeﬁ
b, T TR DR Berat
c. 99§ U R
d. F9d I U B

(1.-99: What is the full form of TDS?

a. Tax Deduction from Salary
b. Tax Deduction at Source
c. Tax Derived from Salary
d. Tax Derived from Savings




GY-100: HTE 1 Tiig & R &)l qRem SFIMHa @ & o) GiE H ] O] 78T

2. 1% 5%
b. 2% & 5%
c. 3% 5%
d. 4% 3 5%

Q.-100: Bid Security for procurement of goods should be kept in the range of of the
estimated cost

a. 1% to 5%
L. 2% to 5%
c. 3% to5%
d. 4% to 5%

Te-101: i A @0E F T Wl YT S F geT F o e A
T FAET OB

a.1% & 5%

b.2% & 5%

3% ¥ 5%

d.4% & 5%

Q.-101: Performance Security after procurement of goods should be kept in the range
Of . of the value of contract

. 1% to 5%
. 2% to 5%
. 3% to 5%
. 4% 1o 5%

o T o B o i o1

Tg-102: f5d ot Gem Sich & To-id! Hedicd IR Smieal ¢RI Sard o & frg df o

o n o
(R - TV &

0.-102: Minimum period that is allowed for reply by the bidder on technical evaluation of
any GeM bid is....

oo oo
o W N




9. 103: TR U1 BT 3741, A8 & ... 741 3 fiaR uRee 78 foow o R s §1 9T §

a, 30
b. 60
c. 45
d. 75

Q.-103: Travelling allowance claim stands forfeited if not submitied within..... days of iis
becoming due

30
60
45
75

o0 oo

TY-104: WA U faant HeR § 18 ol §-

a, BT W ForT

b. fordt e  faumT
CRE

d. BAeg

Q.-104: Autonomous Institutions are created with the approval of-

a. Any Autonomous body
b. Department in a Ministry
c. Cabinet

d. Ministry

T91-105: S0 Q DI I 7 Ao e WG (o6 3 /ST BT axiaan) (Uid-uHeigsis)
frent o e gt §

a. SU-RIHIT STgfdedl

b. Ioft-1 R sgfeat

c. U RIF SMgfiear
d. TR eryfdedr

Q.-105: Which one of these classes are not incorporated in Public Procurement (Preference
to Make in India) {PPP-MII) orders

a. Sub- Local Supplier
b. Class-1 Local Supplier
c. Class-It Local Supplier
d. Non-Local Supplier




TY-106: TTHFY GRIRGE § 8ye Rligr o s, . 0% @ A a% Wior T8 B

L OFRS

. 100 RIS
. 200 SR8
. 500 BRIS

o O T o

Q.-106: In general conditions, Global Tender Engquiry is not admissible up to an amount of

. 10 Crore

. 100 Crore
. 200 Crore
. 500 Crore

o0 T ow

T8-107; 3071t 3MYfcferal & e ~gas wiFa ol §

a. 10%
h. 20%
c. 25%
d. 50%

Q.-107: The minimum local content for Class-ll supplier is

a. 10%
b. 20%
c. 25%
d. 50%

U%-108: Qs @de @ 39 <fear ot odaan driid-wgangang) snew vy
ayfdedi 4%, . A s ot g ade ¥ gcaa g

a. 1¢g
b. 2T
c. 2,579
d. 5 ¢Rd

Q.-108: Public Procurement (Preference to Make in India) (PPP-MiI!) orders exempt
mandatory purchase from local supplier below Rs.........

. 1Lakhs
. 2 Lakhs
. 2.5 Lakhs
. 5 Lakhs

o T o T o 1)




T81-109: SFRIGT SFEY H SHE FI U, FORE SoT aF o

a. 15,000/-
b. 20,000/-
c. 21,000/-

4. SREI T I B3 98]

Q.-109: In manpower contract, the eligibility of bonus is up to the monthly salary of Rs.......

a. 15,000/-
b. 20,000/-
c. 21,000/-
d. None of the above

TY-110: SR ey &, UG URIYHS Yeb Bl X 5.....

a. 5%
b. 1%
c. 0.5%
d. 0.1%

Q.-110: In manpower contract, the rate of EPF Administrative Charge is.....

a. 5%
b. 1%

c. 0.5%
d. 0.1%

TY-111: Gem Sleh H SIa T WR Siedid -

a.aﬂq%qépf%
b. e L1 & WY AqAfT®
c. Had Ll R L2 & w1y A e

d. gl ichiararsit & Ty s §

(Q.-111: Negotiations on bid price in GeM bid is-

a. Not allowed

b. Allowed with L1 only

c. Allowed with L1 and L2 only
d. Allowed with all bidders

uﬂ-112;mﬁﬁaaﬁaa€mm@r@ﬁamﬁw3

a. TUTAHTEH AHal |

b. fordl) faRiy gefiv & Wor uidy & o
c. SRIGT | I B1E el

d. (a) 3R (b) T




(1.-112: Procurement through single tender enguiry is admissible for-

In emergency cases

For spare pérts of a particular machine
None of the above

Both {a) and (b}

o 0 T o

T9-113: TH Y & I8 P [T, (e gray &) TR o TorT 98 ST STl
EliRY

a. 12
b.13
c. 14
d. 15

(-113: For a contract of one year, Performance Security should be made valid for
months.

12
13
14
15

a0 T oM

UY-114: BT & forg Ui uiaier Rove foygds gRT GOR ©1 9Tl 8-

a. [ayTTTeae
b. 9 2R @ 3fAHRE
c. BT IfHfa

d. TTURT 1SSl

Q.-114: The preliminary Project Report for Works is prepared by-

a. Head of the Department
b. Pay and Accounts Officer

c. Works Committee

d. Engineer of the Department

TH-115: SR, SR SiR SgUarT €R &) RUIE 1559 w0 qaR 1 W1l & -




(0.-115: Report of surplus, obsolete and unserviceable stores is prepared in the form of -

a. Form GFR 9

b. Form GFR 10
c. Form GFR 11
d. Form GFR 12

TY-11619 & I Bi- o T8I B Al ol oH & §1¢ SPaR I YIAH & [T e aral
WieR el fdar we

(Q.-116: No claim for the payment from contractor shall be entertained after the lapse of
years of arising of the claim

a. 3
b. 2
c. 1
d. None of the above

U-117: RIFNT B 9ty § Tiftd gewi o Sen g-

a. 9¢g
b. Ui
c. diY
d. a

Q.-117: The number of member nominated in Local Purchase Commitiee is-

a. Six
b. Five
c. Four
d. Three

US-118: VAT BN FHAR] B! TATGDR & 0 H (e o o1 9ehdl &-

a. Ty &7 & forg

b. AeTBHR o ¥ H [af¥ry s/afd & fag
c. T I3eye el aedt & g

d. IURIEd g4




(.-118: Retired Government servant can he engaged as consuitant -
. For the specific task

. For clear output related goals

a
b. For specific duraticn as consultant
C
d. All of the above

TY-119: ... ST F T Gifke 9o R STHSATS T8l 1T

a. 20,000/-
b.21,000/-
c. 22,000/-
d. 23,000/~

Q.-119: ESI not applicable for monthly salary above Rs.......

a. 20,000/-
b. 21,000/-
c. 22,000/-
d. 23,000/-

UY-120: Jou7 2enTid U IHE S AMaR W Fafaiad § § iy Su1 9 62

a. U d drdll SATHAT

b. 0 gl godrs

c. ST o T &1 TRUI Dl Sl
d. 379 I 1S 5

Q.-120: Weightage based eligibility criteria is generally observed in which of the following?

a. Single bid invitation

b. Limited Tender Enquiry

¢. Two stage bidding with Eol
d. None of them




T-05: &I
Section-05: Establishment Bules

TY-121: U TIHRI HHAR] Yai-gha & T0d fld saeiy & sifisan fei o
T ehell 57

. 200
. 250
. 300
. 350

o 0O T w

Q.-121: A Government employee can encash maximum days of earned feave at the
time of retirement?

200
250
300
350

o0 o oW

uy-122: Fafafea & 9 oW 91 sgew Mafid ter #1781 87

a) fold srgHm

b) SR AFHTLY
¢) I I FHTY
d) ATHH ATHY

Q.-122: Among the following, which is not a regular type of leave?

a. Earned Leave

b. Extra-ordinary Leave
c. Half Pay Leave

d. Casual Leave

TY-123: Nad R 1R T ISR THIRI S &l a8 a1 gR 9y & {4l vy sdle &
HaR efger =T g amd o1 aH SoM | 3gad 8, 98 3T <l a¥ Ui IR Iy &
PP an b YId 3T aTH 3T Ahal g

a} ygdl
b) Rl
c) IR
d) g




(1.-123: Fill in the blanks: A Government servant who is unable to avail of the leave travel
concession within a particular block of two years or four years may avail of the same

within the _ vear of the next block of two years or four years.
a. First
b. Second
¢.  Third
d. Forth

7124 TYad wM WY Uo R HHAR] o] O3 AT sl g fdemdd . 9R
TACE] T T I3 & SR SUH & 10 & &) Y71 goar g

Q.-124: Fill in the blanks: A Government servant can encash 10 days of EL during availing of
LTC for maximum of times in his entire service period.

a. Five
b. Six
c. Seven
d. Never

T%-125: Rl I 4, 76 S5 3 o1 Rpivel i), ReR 399 d8 iR U a4 &
RIFAW PR P B

a. dd- it
A SEGHNE
c. da Hieay
d. TR IS

Q.-125: Fill in the blanks: On recommendations of 71" Pay Commission, the Government
accepts in place of Pay Bands and Grade Pay.

a. Pay Table
b. Level Tabie
c. Pay Matrix
d. Level grades

UY-126: Nod R W1 SR AfIFATH, 1961 BT URT 24 & d8d ATAH T HBA TR &[S
T e B Sieesad i 87

a. 1.5 ORgG 3W
b. 1.0 TG 39
c. 2.0 ARG ¥0Y
d. 2.5 TG 39




Q.-126: Fill in the blanks: The maximum Limit of exemption on interest on HBA in Income Tax
is under Section 24 of Income Tax Act, 19617

Rs. 1.5 fakh
Rs. L.Olzkh
Rs. 2.0 lakh
Rs. 2.5 iakh

u%-127: FafaRed 9 9 o9 g2 a9 @ fwn gl g7

a. SffafRad foren Ao e
b. SHTARNY &F & Tyl
c. 3tfafeaa forer wfede
d. AR &3 & THsisll

o0 T oW

Q.-127: Which of the following is not a part of Leave Salary?

a. Additional District Magistrate
b. SDO of residential area
c. Additional District Magistrate
d. SDO of residential area

T%-128: STH I DI AT TR0 ST THI0T G SR} A & o 3ifdd 181 82

a.ﬂﬁaﬂq
b. AT [T Hll

c. TaTere
d. g oftre e

Q.-128: Which one of these authorities are not empowered to issue Caste Certificate?

a. Basic Pay

b. House Rent Allowance
c. Head of the Department
d. Presidency Magistrate

TY-129: APAR T 18 T 3if¥e a1 IR U 3fep Hraforiaa o 3 fSu afgn & gwia &7

2. ST
b. 95 371
. I
d. 3fd




0.-129: The marks obtained mare than or equal to six in APAR signifies which of the
foliowing grading?

a. Quistanding
b. Very Good
c. Good

d. Average

UY-130: U Herars] ) yRdIeT iR 3T ST |
2) o1d 98 a1 T i g e

b) O 3 TE IHE T Tered [our 5l 3

¢) Wa)@?ﬂ%

d) a) 3T b) S TT B

Q.-130: An employee is put under probation.

a. When he/she joins service

b. When he/she promoted to new group
c. Only a)is true

d. Both aj and b} are true

%131 URafgieT & fom siae= 81 [rar o wepar g

a) 9o HicH &1 3 W

b) & HICE T JHIH WX
c) a1 Tifced &1 e wR

d) b) 3R ) THD |

Q.-131: Deputation cannot be applied for at a/an.

Higher Level of Pay Matrix
Equal Level of Pay Matrix
Lower Level of Pay Matrix
Both b} and ¢).

oo T

T¥-132: Terel 4 iR Ueeidl & df arde ey W f3eR 5 o 8
a) HHANNA] BT TS BT
b) U MG & foTT @lel & YR G Nikwd! o1 A

c) 31T§$W
d) SRIaT § 9 18 78]




Q.-132: Relative Seniority between Direct Recruits and Promotees is considered based on.

a. Joining of the employees

b. Rotation of vacancies based on guota for each mode
c. According to age

d. None of the above

TY-133; SRE0T IR Nad Uef &1 W33 & @lid] & ouR R quR i g

Q.-133: Reservation Roster is prepared based on modes of filling up vacant posts mentioned
in the.

a. Service Book

b. Audit Manual

¢. Administrative Manual
d. Recruitment Rule

TY-134: QR URM Aol & a8, YaTHgqd SHaR] SfI&HTH ..oo...... HEH o SacTe]
da & o SITemeh & U g

a) 64
h) 65
) 66
d) 67

Q.-134: Under Old pension Scheme, the retirees are eligible to DCRG for a maximum of
.............. months’ Leave Salary.

UY-135; QR U ISl & d8d, Jal=dd SHaR] G U & SHUeaH ... % & g
U & HECRH & UIA |

a. 20

b. 30

c. 40
d. 50




Q.-135: Under Old Pension Scheme, the retirees are efigible to Commutation of Pension for a

maximum of ....... % of basic pension.
20
30
40
50

o0 o w

e

T2e7-136; 99T & 9T U9 & o el saandl o7 3des oy 2y 78

fwar ST "war § Sre-

a) [Fee= & 3l

b} R 9T EEd

¢) ITIRAICAS SRRl
)T T

Q.-136: Application of an employee for employment ouiside the depariment cannot be
forwarded when-

Under suspension

Charge sheeted

Disciplinary proceedings commenced
All of them

o0 oo oW

T3-137: 3AFaR] Jar-ghy & Ty O GEeE $f golgd 4 & e 3uH Higd 8-

a. THSR 56(1)

b. T (URM) 1999, 1972 &1 {00 48
c. Gl

d. I3 78T

Q.-137: Instructions on strengthening of administration through compulsory retirement is
contained in-

. FR56(1)

. Rule 48 of CCS (Pension) Rules, 1972
Both

. None

O 0 o oW

U%-138: S8 9 S 1 UETE e yonell (Ao &1 fo=ivar 82

a. GRYIST U
b. URYINT SREH
c. UM 6l H-IH
d. TEI P a1




(.-138: Which one of these is a feature of National Pension System (NPS)?

a. Definad Pension

h. Defined Contribution

c. Commutation of Pension
d. None of these

U%-139: Wasd Ja1gi & [T SMTae- oH Hr- & (o0 Sawad aad i oy §-

a. 1 SHAR] 2004
b. 1 30 2004
c. 193] 2014
d. 1 3M0d 2014

Q.-139: Minimum notice period required for submission of application for Voluntary
Retirement is-

a. 1lJanuary 2004
b. 1 April 2004
¢. 1lJanuary 2014
d. 1 April 2014

T%-140: Wiws® JaHgRT & iU HdeT UK HR & 14U Siig=ges gAad ey safe
B-

a. Gl G
b. AF T8
c. g HEH
d. IR TG

Q.~140: Minimum notice period required for submission of application for Voluntary
Retirement is-

a. Two months
b. Three months
c. Six months

d. Four months

7%-141: S GRT Geidh & TRA 370 T B 1 Saol SR T8 g2

a. 9 T

b. HaT YIhT

c. Hadbal HoR! TH0T Ux
d. -1 JHT0r O




Q.-141: Which one of these documents are not required during assessment by DPCY

Salary Slip

Service Book

Vigilance Clearance Certificate
Integrity Certificate

Uy-142: ST ydff Fram & FufRa siges Ja1 & sTeve demta & e ied sul &
THESR W faeR o3l gl

a. T
b, R
c. U
d. 8%

o0 T @

(1.-142: DPC considers APARs of preceding years for promotion irrespective of qualifying
service prescribed in the Recruitment Rule.

a. Three
b. Four
€. Five
d. Six

UY-143: TUY & d8d, Tl U=F R 61 HaH.........% IR Iuai & [ isar

WP

a. 20

b. 25

c. 30

d. 40

Q.-143: Under NPS, minimum of......... % of accumulated pension wealth will be utilized for
monthly?

a. 20

h. 25

c. 30

d. 40

T8i-144: ST B YR W e ol o1 alvmar &3 Puiia o1 o ¢

a. UG &I INEd gl § 9o W

b. SISR MR UGHA & g

c. UGS aNydl gul § ged Ard

d. =5 i FEr




Q.-144: How the seniority of a persen appointed on compassionate grounds is determined?

At the top of the seniority list of the post
Between DRs and Promotees

At the bottom of the seniority list of the post
Neither

u-145: Fafoied 8 9 59 ama o a9 Rier v Dierd g7

a. QIR dShH] B oA
b. UBE TAM P w18 Godl vl U I e = Y1 81
d. HAAb) AR ¢)

& 0o

Q.-145: The Children Education Allowance is admissible in which one of the following cases?

Birth of third girl child

Twin or multiple birth after first issue
Failure of sterilization

Only b) and ¢)

o0 oW

T9-146: HIAHR TE01 B BT T {HTP 1Y Sis] o Tl § -

a. 3fold g
b. gRafdd gHT
c. HRHB HTHTI
d. ad a) 3R b)

Q.-146: Joining time can be combined with —

a. Earned Leave

b. Commuted Leave
c. Casual Leave

d. Only a) and b)

T-147: AAT RIS ad G | 398 I S 8T INgE?

a. Higa siege

b. BH ¥ B 18l o A g1 =1y
c. Iteq 9 ki dIaRT g

d. SURiaT 9

Q.-147: Women Complaints Committee should consist of which one of these?

a. Woman Chairperson

b. At least half of members should be women
¢. A third party familiar with harassment

d. All of the above




Tei-148: Ui & wiem 3 Fgfea & o efedy omg die aar &7

a. 55331;
b. 56 9%
c.57dY
d.58 9%

Q.-148: What is the maximum age limit for appointment through deputation?

55 years
56 years
57 years
58 years

a n oo

T%-149: Cs (ccA) TUY, 1965 & SR, Fultiad o ¥ $19 Irgates o1 e e e
&2

a. AT S WS

b. Slie SYBRI

c. TEgdedl AHRT
d. Tadar SRy

Q.-149: According to CCS (CCA) Rules, 1965, who among the following is not a part of
disciplinary?

Disciplinary Authority
Inguiry Officer
Presenting Officer
Vigilance Officer

0o T oo

%150 CAT &1 JUT ¥ g-

a) o Ui Rt

b) TTod gemHi=e TEigs

o) I fufde waiRmuiea =g
d) & Riaa vemafe e

Q.-150: Full form of CAT is-

Central Administrative Tribunal
Civil Administrative Tribunal
Civil Associative Tribunal

Civil Administrative Team

oo oo




ANSWER KEY OF QUESTION PAPER FOR THE POST OF ADMINISTRATIVE

OFFICER
Q. No. Answer Q. No. | Answer Q. No. Answer Q. No. Answer
SECTION -1 ENGLISH
1 C 2 8 3 A 4 B
5 A 6 D 7 A 8 A
9 A 10 B 11 C 12 B
i3 C 14 A 15 A 16 A
17 C 18 A 18 A 20 D
21 C 22 C 23 B 24 A
25 D 26 A 27 C 28 D
29 - A 30 B - - - -
SECTION :-2 REASONING
31 A 32 A 33 b 34 A
35 D 36 D 37 C 38 D
39 C 40 D 41 C a2 D
43 A a4 D 45 A 46 D
a7 C 48 c 49 D 50 A
51 D 52 B 53 3] 54 C
55 A 56 L 57 D 58 B
59 B 60 C - - - -
SECTION :-3 GENERAL KNOWLEDGE
61 B 62 B 63 C 54 C
65 B 66 c 67 D 68 A
69 C 70 A 71 B 72 A
73 C 74 D 75 A 76 C
77 C 78 D 79 C 80 A




81 82 C 83 A 84 o
85 36 A 87 C 28 B
89 50 | C - - - -
SECTION :-4 GENERAL FINANCIAL RULES
91 92 A 93 c 04 C
95 96 B 97 A 08 ¢
99 100 B 101 c 102 A
103 104 c 105 A 106 c
107 108 D 109 C 110 C
111 112 D 113 C 114 C
115 116. A 117 D 118 D
119 120 c i i i .
SECTION :-5 ESTABLISHMENT RULES
121 122 D 123 A 124 B
125 126 C 127 BONUS 128 BONUS
129 130 D 131 C 132 B
133 134 c 135 Ie 136 D
137 138 B 139 BONUS 140 B
141 147 C 143 D 144 C
145 146 D 147 D 148 3
149 150 A . ) _ ]




